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SECTION - A Marks : 12
How many millimelers are there in , None of these
; Som? o 5 mm 25 mm ® §0 mm
s d & fS K5 xd 2 =450 AL
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The .1 unit of work is ... Joule Newlon O "Pascal Waft%
_____ v e ® g2 F b
T ' . Force x
The form_ula lo calculate the moment F{_)rce X Perpendicular Force x Area None of these
7 ofForceis ....... @) Distance moved ® distance O
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The centripetal force s given by the p o m? oo 2my P mv Fo= v
equation ¢ =TT ¢ r O ¢ r r
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" The study of spedific properiies of matier g . Atomic Solid state
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9 Kol S el Ao, O . N s
. L/b v L("' ,-‘J'll; d:‘:‘{’j U L A
_h..w.,Lf I ACH RS S b '
The rate of change of velocuy is Speed Distance Acceleration Displacement
10 called...... O (]
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[ The pull of gravity on an object is Mass Density Weight Momentum
- called....... :
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Note:
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g™ (Fresh/Reappear)

Time allowad for Soction - B and Section — C Is 2 Hours and 45 minutes.?" “7
Section~B Marks: 32
Answer any EIGHT parts. Each part carries FOUR marks.

Name seven Sl base units of measurament. : p
Why does thermal radiation pass more -easily in to a green house than oul of it?
Define the given: (|) Work iy Power (ili} Energy (iv) One Wall

Derivo 23S = Vi — v

what are the methods of reducing friction?

How you determine the cantar of gravily of an irtegular shape body?

What is the dilference between force of gravity and force of gravitation? -

Why the efficiency of an engine can not be 100 %7

State and explain Hook's Law.

0. Wrile short note on thermal expansion in liquids,

1. Dehne zero error ahd zero correction of Vernier Caliper. ) : } .
Section~C AT - Marks: 21

Noto ; Attempt any THREE questions. All questions carry equal marks
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Define cenduction of heal. Describe any two of its applications.

A body is thrown vertically upward with a speed of 25 m/sec. How high will it rise.

State and explain Newlon's second law of molion,

A builet of mass 45 gm travels at a spead of 1800 m/sec. Find its Kinetic Energy.

Define Equilibrium. Explain conditions of Equilibrium.

Calculate the force of gravilation due to earthon a body of mass 15 kg slandmg on the ground.
Define Hydrostatic Pressure. And show that P= pgh.
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if 119.8 joule of heat is required to raise the temperature of 14 gram of silver ihrough 50°C.
Calculate the specific heat of silver.
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